

# Progress Report (Second Term)

Session: 2015-2016

**IZA AJAIB** Sr. No. Student's Name: Admission No.: 1671

Father's Name: **AJAIB KHAN** Class: K.G - Pearls Section:

PASS MARKS: 40 %		lune 2018	5				2015	DEMARKS.
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta		Per%	REMARKS
ENG-WRITING	40	40	100	40		39	97	Mid Term 2015-16 Class Work
URDU-WRITING	40	40	100	40		39	97	CIASS WOIK
MATHS-WRITING	40	40	100	40		40	100	
ENG-READING	10	10	100	10		10	100	Home Work
URDU-READING	10	10	100	10		10	100	
MATHS-ORAL	10	10	100	10		10	100	
ISLAMIAT	20	20	100	20	3	20	100	Attitude
G.K	20	20	100	20		20	100	<u>/</u>
DRAWINGS	20	16	80	20		18	90	
POEMS	20	20	100	20		20	100	Progress Report (Second
	20	20	100	20		20	100	Class Work
								Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	246	98.40	250	24	46	98.40	
Percentage/Grade	98	.40 A-	++	98.40		Α+	+	Home Work
Position	Third	Out of	20	Thir	ird Out		22	Parents should get more involved with the individu
GRAND TOTAL	24	46	250	49	92		500	
Grand Percentage/Grade	98	.40 A	++	98	98.40 A++			Attitude
Grand Position		4	0	ut of		22		Anxious to learn can have hope.
Attendance		Out of			Out			
Teacher's Signature								PRIZES / AWARDS
	A JUNA HA	PRINCIPAL	P COLLEGE	THOMASS STORY	PRINC	A CIPAL	Some?	
Controller of Exams								Current Result: Pass
				<u> </u>				Previous Result: Pass
								Overall Result: Pass
								- 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: ALI RAZA KHOKAR-(V) Admission No.: 1686 Sr. No. 2

Father's Name: FAWAD ALI KHOKAR Class: K.G - Pearls Section:

PASS MARKS: 40 %	J	lune 201	5	28 N		· 2015	_	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai	ks ned	Per%	REMARKS
ENG-WRITING	40	30	75	40	2	20	50	Mid Term 2015-16
URDU-WRITING	40	36	90	40	:	27	67	<u>Class Work</u>
MATHS-WRITING	40	38	95	40	,	38	95	
ENG-READING	10	10	100	10		5	50	Home Work
URDU-READING	10	10	100	10		10	100	<u></u>
MATHS-ORAL	10	8	80	10		7	70	
ISLAMIAT	20	20	100	20	3	20	100	Attitude
G.K	20	20	100	20		18	90	<u>/</u>
DRAWINGS	20	16	80	20		14	70	
POEMS	20	20	100	20	:	20	100	Progress Report (Second
	20	20	100	20	:	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	228	91.20	250	19	9	79.60	
Percentage/Grade	91	.20 A	++	79.60		Α		Home Work
Position	14	Out of	20	18	Ou of	Out 22		Parents should get more involved with the individu
GRAND TOTAL	22	28	250	42	27	;	500	
Grand Percentage/Grade	91	.20 A	++	85	5.40		Α	<u>Attitude</u>
Grand Position		14		ut of	2	22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	PRINCIPAL E						OLLEGE OL	
Controller of Exams								Current Result: Pass
	l			1				Previous Result: Pass Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**NOOR FATIMA** Student's Name: Admission No.: 1698 Sr. No. 3 Father's Name: **KASHIF AZIZ** Class: K.G - Pearls **Section: Nursery** 

D. 4.0.0 11.4 D1/0					,	_	22.4	
PASS MARKS: 40 %		une 201	5				2015	DEMARKS
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta	rks ined	Per%	REMARKS
ENG-WRITING	40	38	95	40		34	85	Mid Term 2015-16 Class Work
URDU-WRITING	40	39	97	40		37	92	Class Work
MATHS-WRITING	40	39	97	40		40	100	
ENG-READING	10	10	100	10		10	100	Home Work
URDU-READING	10	10	100	10		7	70	
MATHS-ORAL	10	8	80	10		10	100	
ISLAMIAT	20	20	100	20	3	18	90	Attitude
G.K	20	20	100	20		20	100	<u> </u>
DRAWINGS	20	17	85	20		18	90	
POEMS	20	20	100	20		19	95	Progress Report (Second
	20	20	100	20		20	100	Class Work
								Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	241	96.40	250	2:	33	93.20	
Percentage/Grade	96	.40 A	++	93.20		Α+	+	Home Work
Position	6	Out of	20	8	Out of		22	Parents should get more involved with the individu
GRAND TOTAL	24	11	250	47	74		500	
Grand Percentage/Grade	96	.40 A	++	94	.80	Δ	<b>\++</b>	Attitude
Grand Position		8	0	ut of		22		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A SAMALA	PRINCIPAL FROM, RESTRICT	A COLLEGE	HAMMAN SOR	PRINCIPAL E			
Controller of Exams								Current Result: Pass
	L							Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**IBAD NAWAZ** Sr. No. Student's Name: Admission No.: 1711 4

Father's Name: **IBRAR KHAN** Class: K.G - Pearls Section:

PASS MARKS: 40 %	J	lune 2013	5	28 N	ovemb		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marks Obtaine	ed Per	REMARKS
ENG-WRITING	40	<u>10</u>	25	40	_5	<u>i</u> 1	
URDU-WRITING	40	29	72	40	3	3	<u>Class Work</u> 7
MATHS-WRITING	40	18	45	40	9	2	2
ENG-READING	10	5	50	10			Home Work
URDU-READING	10	7	70	10		7 7	0
MATHS-ORAL	10	5	50	10	,	3	0
ISLAMIAT	20	20	100	20	17	7 8	5 Attitude
G.K	20	20	100	20	14	1 / 7	0
DRAWINGS	20	14	70	20	w	3 4	0
POEMS	20	16	80	20	13	3 6	5 Progress Report (Second
	20	15	75	20	17	7 8	5 <u>Class Work</u>
							Takes a keen interest. Does home work regularly.
TOTAL MARKS	250	159	63.60	250	96	38.4	10
Percentage/Grade	63	.60 B		38.40	F		Home Work
Position	20	Out of	20	21	Out 22 of		Sometimes fails to do home work. Should be more de
GRAND TOTAL	15	59	250	2	55	500	
Grand Percentage/Grade	63	.60 E	3	51	.00	F	Attitude
Grand Position		19	0	ut of	22	2	The student appears well rested and ready for each
Attendance		Out of			Out of		1
Teacher's Signature							PRIZES / AWARDS
	What the state of	PRINCIPAL */Mod. felamoth	Confession	ANALYS COM	PRINCIP.		
Controller of Exams							Current Result: Fail
	l						Previous Result: Pass Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**FATIMA** Student's Name: Admission No.: 1888 Sr. No. Father's Name: **MUHAMMAD RIAZ** Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %	S MARKS: 40 % June 2015 28 November 20									
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain	s ed	Per%	REMARKS		
ENG-WRITING	40	40	100	40	4		100	Mid Term 2015-16		
URDU-WRITING	40	39	97	40	3	9	97	<u>Class Work</u>		
MATHS-WRITING	40	40	100	40	4	0	100			
ENG-READING	10	10	100	10	1	0	100	Home Work		
URDU-READING	10	10	100	10	1	0	100	TIOINE WOIK		
MATHS-ORAL	10	10	100	10	1	0	100			
ISLAMIAT	20	20	100	20	2	0	100	Attitude		
G.K	20	20	100	20	2	0	100	Aunuue		
DRAWINGS	20	18	90	20	1	9	95			
POEMS	20	20	100	20	2	0	100	Progress Report (Second		
	20	20	100	20	2	20	100	Class Work		
								Doing well, very attentive. Must keep it up.		
TOTAL MARKS	250	247	98.80	250	248	3	99.20			
Percentage/Grade	98	3.80 A	++	99.20	1	<b>\+</b> +	+	Home Work		
Position	Seco	nd Out	20	Firs	t Out 22		22	Parents should get more involved with the individu		
GRAND TOTAL	24	47	250	49	95	5	500			
Grand Percentage/Grade	98	3.80 A	++	99	0.00	A	++	<u>Attitude</u>		
Grand Position		First		ut of	2	2		Anxious to learn can have hope.		
Attendance		Out of			Out of					
Teacher's Signature								PRIZES / AWARDS		
	All Market	PRINCIPAL PRINCIPAL	A COURT	THOMAS OF THE	PRINCIP	PAL	S COLLEGE S COLL			
Controller of Exams								Current Result: Pass		
				<u> </u>				Previous Result: Pass		
								Overall Result: Pass		



# Progress Report (Second Term)

Session: 2015-2016

**TASARRAF ALI** Student's Name: Admission No.: 1898 Sr. No. Father's Name: **ASHIQ ALI** Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %		lune 201	5	28 N	ovem	ber	2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	40	33	82	40		37	92	Mid Term 2015-16
URDU-WRITING	40	37	92	40	;	33	82	<u>Class Work</u>
MATHS-WRITING	40	39	97	40	,	38	95	
ENG-READING	10	10	100	10		9	90	Home Work
URDU-READING	10	10	100	10		8	80	<u> </u>
MATHS-ORAL	10	8	80	10		10	100	
ISLAMIAT	20	20	100	20		18	90	Attitude
G.K	20	20	100	20		20	100	Attitude
DRAWINGS	20	14	70	20		13	65	
POEMS	20	20	100	20		16	80	Progress Report (Second
	20	20	100	20	:	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	231	92.40	250	22	2	88.80	
Percentage/Grade	92	.40 A	++	88.80		<b>A</b> +		Home Work
Position	10	Out of	20	10	Out		22	Parents should get more involved with the individu
GRAND TOTAL	23	31	250	4	53	,	500	
Grand Percentage/Grade	92	.40 A	++	90	0.60	-	<b>A</b> +	<u>Attitude</u>
Grand Position		10		ut of		22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PRANT TO PER	PRINCIPAL	or Course	PRINCIPAL E				
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

ILTIMAS HASSAN-(V) Student's Name: Admission No.: 1899 Sr. No. Father's Name: **MUHABAT ALI** Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %	J	June 2013	5		ovemb		15	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain		r%	REMARKS
ENG-WRITING	40	40	100	40	3	6	90	Mid Term 2015-16
URDU-WRITING	40	38	95	40	3	8	95	<u>Class Work</u>
MATHS-WRITING	40	40	100	40	4	0 1	00	
ENG-READING	10	8	80	10	1	0 1	00	Home Work
URDU-READING	10	10	100	10	1	0 1	00	
MATHS-ORAL	10	10	100	10	1	0 1	00	
ISLAMIAT	20	20	100	20	2	0 1	00	Attitude
G.K	20	16	80	20	2	0 1	00	<u></u>
DRAWINGS	20	16	80	20	1	5	75	
POEMS	20	20	100	20	1	9	95	Progress Report (Second
	20	20	100	20	2	0 1	00	Class Work
								Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	238	95.20	250	238	95	.20	
Percentage/Grade	95	.20 A	++	95.20	-	<b>\+</b> +		Home Work
Position	8	Out of	20	6	Out of			Parents should get more involved with the individu
GRAND TOTAL	23	38	250	4	76	500	)	
Grand Percentage/Grade	95	.20 A	++	95	5.20	A++		Attitude
Grand Position		6		ut of	2	2		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PANIL & CO.	PRINCIPAL	A COLLEGE COLLEGE	A SINA CALL	PRINCIPAL PRINCI	PAL) COLLEGE	)	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: **MOBEEN ALI** Admission No.: 1931 Sr. No. 8 Father's Name: **BABAR HUSSAIN** Class: K.G - Pearls **Section: Full** 

PASS MARKS: 40 %	J	une 2018	5	28 N		2015	_	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair	ks 1ed	Per%	REMARKS
ENG-WRITING	40	23	57	40	<u>_1</u>	10	25	Mid Term 2015-16
URDU-WRITING	40	38	95	40	_	4	10	<u>Class Work</u>
MATHS-WRITING	40	28	70	40	2	28	70	
ENG-READING	10	5	50	10		8	80	Home Work
URDU-READING	10	5	50	10		5	50	<del></del>
MATHS-ORAL	10	5	50	10		5	50	
ISLAMIAT	20	17	85	20	3 1	17	85	Attitude
G.K	20	16	80	20		20	100	<u>/III/Iuuo</u>
DRAWINGS	20	16	80	20		12	60	
POEMS	20	17	85	20	1	17	85	Progress Report (Second
	20	20	100	20	2	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	190	76.00	250	14	6	58.40	
Percentage/Grade	76.	.00 A		58.40		С		Home Work
Position	17	Out of	20	20	Out of		22	Takes a keen interest. Does home work regularly.
GRAND TOTAL	19	90	250	33	36	;	500	
Grand Percentage/Grade	76.	.00 /	4	67	7.20		С	<u>Attitude</u> Should be more serious towards
Grand Position		18	0	ut of	2	22		learning. Generally
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	HPWWIL + CAR	PRINCIPAL	P COLLEGE	PRINCIPAL E				
Controller of Exams							Current Result: Pass	
								Previous Result: Pass Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: **SHAHZEEB** Admission No.: 1948 Sr. No. 9 Father's Name: MUHAMMAD NAVEED Class: K.G - Pearls **Section: Full** 

PASS MARKS: 40 %	J	<i>June 201</i>	5		ovem		2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	40	33	82	40	,	19	47	Mid Term 2015-16
URDU-WRITING	40	35	87	40	;	34	85	<u>Class Work</u>
MATHS-WRITING	40	27	67	40	;	36	90	
ENG-READING	10	8	80	10		10	100	Home Work
URDU-READING	10	8	80	10		10	100	<del></del>
MATHS-ORAL	10	8	80	10		10	100	
ISLAMIAT	20	20	100	20	3	20	100	Attitude
G.K	20	20	100	20		18	90	<u> 711.//ddo</u>
DRAWINGS	20	15	75	20		11	55	
POEMS	20	20	100	20	,	18	90	Progress Report (Second
	20	20	100	20	:	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	214	85.60	250	20	6	82.40	
Percentage/Grade	85	.60 A	+	82.40		Α+		Home Work
Position	15	Out of	20	16	Ou of	Out 22		Parents should get more involved with the individu
GRAND TOTAL	21	14	250	42	20		500	
Grand Percentage/Grade	85	.60 A	+	84	1.00	-	<b>Δ</b> +	Attitude
Grand Position		15		ut of		22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PANILL OF THE PARILL OF THE	PRINCIPAL	S course	Aphanii s	PRINC	IPAL arrestor	A COLLEGE	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: MAIRA KAINAT AWAN-(V) Admission No.:1953 Sr. No. 10 Father's Name: NASIR MEHMOOD AWAN Class: K.G - Pearls Section: Full

PASS MARKS: 40 %	J	lune 201	5	28 N		2015	_	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair	ks ned	Per%	REMARKS
ENG-WRITING	40	35	87	40	2	29	72	Mid Term 2015-16
URDU-WRITING	40	38	95	40	;	37	92	<u>Class Work</u>
MATHS-WRITING	40	35	87	40	;	38	95	
ENG-READING	10	10	100	10		8	80	Home Work
URDU-READING	10	10	100	10		8	80	<u></u>
MATHS-ORAL	10	8	80	10		6	60	
ISLAMIAT	20	20	100	20	2	20	100	Attitude
G.K	20	16	80	20		20	100	<u>/ 11114440</u>
DRAWINGS	20	16	80	20		12	60	
POEMS	20	20	100	20	2	20	100	Progress Report (Second
	20	20	100	20	2	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	228	91.20	250	21	8	87.20	
Percentage/Grade	91	.20 A	++	87.20		<b>A</b> +		Home Work
Position	13	Out of	20	11	Out 22		22	Parents should get more involved with the individu
GRAND TOTAL	22	28	250	44	16	,	500	
Grand Percentage/Grade	91	.20 A	++	89	.20	-	<b>Δ</b> +	Attitude
Grand Position		12		ut of	2	22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	FRINCIPAL SE						Some)	
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

SHAHMEER ALI AWAN-(V) Admission No.:1954 Sr. No. Student's Name: 11 Father's Name: **QASER MAJID AWAN** Class: K.G - Pearls Section: Full

PASS MARKS: 40 %		lune 201	5	28 N	ovem	ber	2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	40	34	85	40	;	34	85	Mid Term 2015-16
URDU-WRITING	40	39	97	40	;	33	82	<u>Class Work</u>
MATHS-WRITING	40	35	87	40	;	33	82	
ENG-READING	10	10	100	10		8	80	Home Work
URDU-READING	10	10	100	10		8	80	<del></del>
MATHS-ORAL	10	8	80	10		6	60	
ISLAMIAT	20	20	100	20		20	100	Attitude
G.K	20	20	100	20	7	20	100	<u> Minado</u>
DRAWINGS	20	14	70	20		12	60	
POEMS	20	20	100	20	,	19	95	Progress Report (Second
	20	20	100	20	:	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	230	92.00	250	21	3	85.20	•
Percentage/Grade	92	.00 A	++	85.20		<b>A</b> +		Home Work
Position	12	Out of	20	15	Ou of		22	Parents should get more involved with the individu
GRAND TOTAL	23	30	250	4	43	;	500	
Grand Percentage/Grade	92	.00 A	++	88	3.60	-	<b>4</b> +	<u>Attitude</u>
Grand Position		13		ut of	2	22		The student appears well rested and ready for each
Attendance		Out of			Out			
Teacher's Signature								PRIZES / AWARDS
	THE PROPERTY OF THE PROPERTY O	PRINCIPAL	S courses	PRINCIPAL IN				
Controller of Exams								Current Result: Pass
				-				Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

MAHNOOR FATIMA-(V) Student's Name: Admission No.: 1955 Sr. No. 12 Father's Name: **SALEEM RAZA** Class: K.G - Pearls **Section: Full** 

PASS MARKS: 40 %		June 201	5		ovemi		2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair		Per%	REMARKS
ENG-WRITING	40	35	87	40	3	31	77	Mid Term 2015-16
URDU-WRITING	40	37	92	40	3	37	92	<u>Class Work</u>
MATHS-WRITING	40	34	85	40	3	36	90	
ENG-READING	10	8	80	10	1	10	100	Home Work
URDU-READING	10	10	100	10		7	70	
MATHS-ORAL	10	10	100	10		5	50	
ISLAMIAT	20	20	100	20	3 1	18	90	Attitude
G.K	20	20	100	20	4	20	100	
DRAWINGS	20	16	80	20	1	13	65	
POEMS	20	20	100	20	1	19	95	Progress Report (Second
	20	20	100	20	2	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	230	92.00	250	21	6	86.40	
Percentage/Grade	92	.00 A	++	86.40		Α+		Home Work
Position	11	Out of	20	13	Out	Out 22		Parents should get more involved with the individu
GRAND TOTAL	23	30	250	44	46	5	500	
Grand Percentage/Grade	92	.00 A	++	89	9.20	A	<b>/</b> +	Attitude
Grand Position		11		ut of	2	22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	THE STATE OF THE S	PRINCIPAL	to Correction	Appendix s	PRINCIPAL PRINCI	PAL	To the second	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: AYAN UR REHMAN=(V) Admission No.: 1966 Sr. No. 13 Father's Name: MATLOOB UR REHMAN Class: K.G - Pearls Section: Full

PASS MARKS: 40 %	June 2015 28 November 20							_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta	rks ined	Per%	REMARKS
ENG-WRITING	40	37	92	40		34	85	Mid Term 2015-16
URDU-WRITING	40	36	90	40		36	90	<u>Class Work</u>
MATHS-WRITING	40	40	100	40		40	100	
ENG-READING	10	10	100	10		10	100	Home Work
URDU-READING	10	9	90	10		10	100	<del></del>
MATHS-ORAL	10	8	80	10		10	100	
ISLAMIAT	20	19	95	20	3	19	95	Attitude
G.K	20	20	100	20		20	100	<u> </u>
DRAWINGS	20	16	80	20		12	60	
POEMS	20	20	100	20		15	75	Progress Report (Second
	20	20	100	20		20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250	235	94.00	250	22	26	90.40	
Percentage/Grade	94.	.00 A-	++	90.40 A+		<b>A</b> +	+	Home Work
Position	9	Out of	20	9 Out of		22	Parents should get more involved with the individu	
GRAND TOTAL	23	35	250	40	61		500	
Grand Percentage/Grade	94.	.00 A-	++	92	2.20	Δ	<b>/++</b>	Attitude
Grand Position		9	0	ut of		22		The student appears well rested and ready for each
Attendance		Out of			Out			
Teacher's Signature								PRIZES / AWARDS
	HAWALL & CAR	PRINCIPAL	PRINCIPAL S			1900 P. 1900 P		
Controller of Exams								Current Result: Pass
	l							Previous Result: Pass Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**FUZAIL AHMED** Student's Name: Admission No.: 2002 Sr. No. 14 Father's Name: **MUHAMMAD NAVEED** Class: K.G - Pearls **Section: Full** 

PASS MARKS: 40 %	J	lune 2013	5			er 2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain	s <sub>ed</sub> Per%	REMARKS
ENG-WRITING	40	38	95	40	38	95	Mid Term 2015-16
URDU-WRITING	40	36	90	40	3	7 92	- <u>Class Work</u>
MATHS-WRITING	40	40	100	40	3	8 95	
ENG-READING	10	10	100	10	1	0 100	Home Work
URDU-READING	10	10	100	10	1	0 100	
MATHS-ORAL	10	10	100	10	10	0 100	
ISLAMIAT	20	20 20 100		20	2	0 100	- Attitude
G.K	20	20	100	20	2	100	
DRAWINGS	20	15	75	20	1:	2 60	
POEMS	20	20	100	20	2	0 100	Progress Report (Second
	20	20	100	20	2	0 100	Class Work
							Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	239	95.60	250	235	94.00	
Percentage/Grade	95	.60 A	++	94.00	A++		Home Work
Position	7	Out of	20	7 Out 22		22	Parents should get more involve with the individu
GRAND TOTAL	23	39	250	4	74	500	_
Grand Percentage/Grade	95	.60 A	++	94	1.80	A++	<u>Attitude</u>
Grand Position		7		ut of	22	2	Anxious to learn can have hope.
Attendance		Out of			Out of		
Teacher's Signature							PRIZES / AWARDS
	A TO AND TO A TO	PRINCIPAL	PRINCIPAL E				
Controller of Exams							Current Result: Pass
							Previous Result: Pass
							Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**NATASHA** Student's Name: Admission No.: 2016 Sr. No. 15 Father's Name: **MURTAZA ISMAIL** Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %		une 2013	5				2015	DEMA DIZO
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	40	40	100	40		40	100	Mid Term 2015-16 Class Work
URDU-WRITING	40	39	97	40	;	38	95	Class WOIK
MATHS-WRITING	40	40	100	40	•	40	100	
ENG-READING	10	10	100	10		10	100	Home Work
URDU-READING	10	10	100	10		10	100	
MATHS-ORAL	10	10	100	10	,	10	100	
ISLAMIAT	20	20	100	20	3	20	100	Attitude
G.K	20	20	100	20		20	100	<u> </u>
DRAWINGS	20	18	90	20		19	95	
POEMS	20	20	100	20	:	20	100	Progress Report (Second
	20	20	100	20	:	20	100	Class Work
								Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	247	98.80	250	24	17	98.80	
Percentage/Grade	98	.80 A-	++	98.80 A++		+	Home Work	
Position	Secon	of Out	20	Second Out 22			22	Parents should get more involved with the individu
GRAND TOTAL	24	17	250	49	94	;	500	
Grand Percentage/Grade	98	.80 A-	++	98	3.80	A	<b>\+</b> +	Attitude
Grand Position	s	econd	0	ut of		22		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A SAMALA	PRINCIPAL	PRINCIPAL E			Section (Section )		
Controller of Exams								Current Result: Pass
	l			<u> </u>				Previous Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: **SYED HAIDER ABBAS** Admission No.: 2031 Sr. No. 16 Father's Name: KAFAYAT HUSSAIN SHAH Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %		lune 201	5	28 N	ovemh	er 2015		
SUBJECTS	Max	Marks	Por%	Max	Mark	s	REMARKS	
ENG-WRITING	Marks 40	Obtained 19	47	Marks 40	Obtain 20			
URDU-WRITING	40	29	72	40	30	-	Class Work	
MATHS-WRITING	40	20	50	40	3:		-	
ENG-READING	10	8	80	10		5 50	_	
URDU-READING	10	8	80	10	10			
MATHS-ORAL	10	10	100	10		7 70	<del>,</del>	
ISLAMIAT	20	20	100	20	1	5 75		
G.K	20	20	100	20	20	0 100		
DRAWINGS	20	12	60	20	1:	2 60		
POEMS	20	20	100	20	1	7 85	Drawness Banart (Casard	
	20	20	100	20	20	0 100	Progress Report (Second Class Work	
							Generally doing well, can improve easily.	
TOTAL MARKS	250	186	74.40	250	200	80.0		
Percentage/Grade	74	.40 A		80.00 A+		\+	Home Work	
Position	18	Out	20	17 Out 2		22	Parents should get more involve with the individu	
GRAND TOTAL	18		250			500		
Grand Percentage/Grade	74	.40	4	77	7.20	A+	<u>Attitude</u>	
<b>Grand Position</b>		16		ut of	22	2	The student appears well rested and ready for each	
Attendance		Out			Out			
Teacher's Signature							PRIZES / AWARDS	
	CHANNIL A COM	PRINCIPAL E			PRINCIP	PAL)		
Controller of Exams							Current Result: Pass	
							Previous Result: Pass	
							Overall Result: Pass	



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: EHSAN HAYAT-(V) Admission No.: 2051 Sr. No. 17 Father's Name: HAYAT MUHAMMAD KHAN Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %	J	lune 2018	5	28 N	ovem	ber	2015		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS	
ENG-WRITING	40	40	100	40		40	100	Mid Term 2015-16	
URDU-WRITING	40	39	97	40		38	95	<u>Class Work</u>	
MATHS-WRITING	40	40	100	40		40	100		
ENG-READING	10	10	100	10		10	100	Home Work	
URDU-READING	10	10	100	10		10	100	<del></del>	
MATHS-ORAL	10	10	100	10		10	100		
ISLAMIAT	20	20	100	20	3	20	100	<u>Attitude</u>	
G.K	20	20	100	20	4	20	100	<u>- 100000</u>	
DRAWINGS	20	18	90	20		16	80		
POEMS	20	20	100	20		20	100	Progress Report (Second	
	20	20	100	20		20	100	Class Work	
								Doing well, very attentive. Must keep it up.	
TOTAL MARKS	250	247	98.80	250	24	14	97.60		
Percentage/Grade	98	.80 A-	++	97.60 A+		A++		Home Work	
Position	Secor	nd Out of	20	5 Out of		22	Parents should get more involved with the individu		
GRAND TOTAL	24	47	250	49	91	,	500	1	
Grand Percentage/Grade	98	.80 A-	++	98	3.20	Δ	<b>/++</b>	<u>Attitude</u> Anxious to learn can have hope.	
Grand Position		5	0	ut of		22		Anxious to learn can have hope.	
Attendance		Out of			Out of				
Teacher's Signature								PRIZES / AWARDS	
	PRINCIPAL S			PRINCIPAL S			A COTTE		
Controller of Exams								Current Result: Pass	
				I				Previous Result: Pass	
								Overall Result: Pass	



# Progress Report (Second Term)

Session: 2015-2016

**MISHAL** Student's Name: Admission No.: 2204 Sr. No. 18 **Father's Name:** Class: K.G - Pearls **Section: Nursery** 

PASS MARKS: 40 %	J	lune 2013	5	28 N			· 2015	_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtaiı	ks ned	Per%	REMARKS
ENG-WRITING	40			40		34	85	Mid Term 2015-16
URDU-WRITING	40			40	;	38	95	<u>Class Work</u>
MATHS-WRITING	40			40	;	36	90	
ENG-READING	10			10		7	70	Home Work
URDU-READING	10			10		10	100	<u></u>
MATHS-ORAL	10		/	10		5	50	
ISLAMIAT	20		7	20		20	100	Attitude
G.K	20			20		17	85	Attitudo
DRAWINGS	20			20		15	75	
POEMS	20			20	•	14	70	Progress Report (Second
	20			20	2	20	100	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250			250	21	6	86.40	·
Percentage/Grade				86.40		<b>A</b> +		Home Work
Position		Out of		12 Out 22			22	Parents should get more involved with the individu
GRAND TOTAL		0 :	250	2'	16	,	500	
Grand Percentage/Grade	0.	00		43	3.20	-	<b>Δ</b> +	<u>Attitude</u>
Grand Position		20	0	ut of	2	22		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A SA	PRINCIPAL	PRINCIPAL E			A COLLEGE		
Controller of Exams								Current Result: Pass
								Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: AHMED ALI Admission No.: 2213 Sr. No. 19 Father's Name: **ALTAF HUSSAIN** Class: K.G - Pearls Section: Full

PASS MARKS: 40 %	J	June 2018	5	1	ovembe		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marks Obtaine		REMARKS
ENG-WRITING	40	40	100	40	40	100	Mid Term 2015-16
URDU-WRITING	40	40	100	40	39	97	<u>Class Work</u>
MATHS-WRITING	40	40	100	40	40	100	
ENG-READING	10	10	100	10	10	100	Home Work
URDU-READING	10	10	100	10	10	100	
MATHS-ORAL	10	10	100	10	10	100	
ISLAMIAT	20	20 20 100		20	20	100	- Attitude
G.K	20	20	100	20	20	100	<u> </u>
DRAWINGS	20	18	90	20	16	80	
POEMS	20	20	100	20	20	100	Progress Report (Second
	20	20	100	20	20	100	Class Work
							Doing well, very attentive. Must keep it up.
TOTAL MARKS	250	248	99.20	250	245	98.00	
Percentage/Grade	99	.20 A-	++	98.00	A++		Home Work
Position	First	Out	20	4 Out 22			Parents should get more involved with the individu
GRAND TOTAL	24	18	250	49	93	500	
Grand Percentage/Grade	99	.20 A	++	98	3.60	A++	<u>Attitude</u>
Grand Position		Third		ut of	22		Anxious to learn can have hope.
Attendance		Out of			Out of		
Teacher's Signature							PRIZES / AWARDS
	A PANIL S COM	PRINCIPAL E			PRINCIP,	DOLATON SOLUTION OF THE PROPERTY OF THE PROPER	
Controller of Exams							Current Result: Pass
				<u> </u>			Previous Result: Pass
							Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

**FARAH ABBAS** Student's Name: Admission No.: 2220 Sr. No. 20 Father's Name: **M.ABBAS** Class: K.G - Pearls Section: Full

PASS MARKS: 40 %		June 2015 28 November 2		r 2015			
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marks Obtained	Per%	REMARKS
ENG-WRITING	40	31	77	40			Mid Term 2015-16
URDU-WRITING	40	30	75	40			<u>Class Work</u>
MATHS-WRITING	40	33	82	40			
ENG-READING	10	7	70	10			Home Work
URDU-READING	10	8	80	10			Home Work
MATHS-ORAL	10	8	80	10			
SLAMIAT	20	20	100	20	3		Attitude
G.K	20	20	100	20	70	-3	<u> </u>
DRAWINGS	20	14	70	20			
POEMS	20	20	100	20			
	20	20	100	20			<u>Class Work</u>
							Very weak area. Parents may communicate with teach
TOTAL MARKS	250	211	84.40	250	0		
Percentage/Grade	84	.40 A	+		F		<u>Home Work</u>
Position	16	Out	20	24	Out	22	Very weak area. Parents immediate attention is nec
GRAND TOTAL	21	11	250				
Grand Percentage/Grade							<u>Attitude</u>
Grand Position		22	0	ut of	22		The student exhibits a positive outlook and attitu
Attendance		Out			Out		
Teacher's Signature							PRIZES / AWARDS
	A STATE OF THE STA	PRINCIPAL	t COLLEGE.	HARAN C COO	PRINCIPAL		
Controller of Exams							Current Result: Fail
							Previous Result: Pass
							Overall Result: Pass



# Progress Report (Second Term)

Session: 2015-2016

Student's Name: **SHUMAIZA PARVEEN** Admission No.: 2292 Sr. No. 21 Father's Name: **MAZHAR HUSSAIN** Class: K.G - Pearls Section: Full

PASS MARKS: 40 %	J	June 201	5				2015		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS	
ENG-WRITING	40	22	55	40	,	19	47	Mid Term 2015-16	
URDU-WRITING	40	32	80	40	:	21	52	<u>Class Work</u>	
MATHS-WRITING	40	27	67	40		27	67		
ENG-READING	10	7	70	10		2	20	Home Work	
URDU-READING	10	8	80	10		10	100	<del></del>	
MATHS-ORAL	10	5	50	10		5	50		
ISLAMIAT	20	20 20 100		20	3	16	80	Attitude	
G.K	20	8	40	20	7	15	75	············	
DRAWINGS	20	18	90	20		12	60		
POEMS	20	10	50	20		13	65	Progress Report (Second	
	20	20	100	20	2	20	100	Class Work	
								Very weak area. Parents may communicate with teach	
TOTAL MARKS	250	177	70.80	250	16	0	64.00		
Percentage/Grade	70	.80 A		64.00 B		В		Home Work	
Position	19	Out of	20	19 Out				Sometimes fails to do home work. Should be more de	
GRAND TOTAL	17	77	250	33	37	500			
Grand Percentage/Grade	70	.80	4	67	7.40		В	<u>Attitude</u>	
Grand Position		17		ut Of	2	22		Hopeless. parents help very much needed.	
Attendance		Out of			Out of				
Teacher's Signature								<u>PRIZES / AWARDS</u>	
	THE THINK TO SEE	PRINCIPAL E			PRINCIPAL STATES				
Controller of Exams								Current Result: Pass	
								Previous Result: Pass	
								Overall Result: Pass	



# Progress Report (Second Term)

Session: 2015-2016

FATIMA KHALID ANWAR Admission No.: 2417 Student's Name: Sr. No. 22 Father's Name: **KHALID ANWAR** Class: K.G - Pearls Section: A

PASS MARKS: 40 %		lune 201:	5	28 N	ovemb		15	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain		er%	REMARKS
ENG-WRITING	40			40	34		85	Mid Term 2015-16
URDU-WRITING	40			40	3	3	82	<u>Class Work</u>
MATHS-WRITING	40			40	3	8	95	
ENG-READING	10			10	1	0 1	00	Home Work
URDU-READING	10			10		5	50	<u> </u>
MATHS-ORAL	10		/	10	1	0 1	00	
ISLAMIAT	20		7	20	1	7	85	Attitude
G.K	20	1/4		20	1	7	85	<u> </u>
DRAWINGS	20			20	1	5	75	
POEMS	20			20	1	6	80	Progress Report (Second
	20			20	2	0 1	00	Class Work
								Generally doing well, can improve easily.
TOTAL MARKS	250			250	215	86	.00	•
Percentage/Grade				86.00	-	<b>\</b> +		Home Work
Position		Out		14 Out 22		2	Parents should get more involved with the individu	
GRAND TOTAL		0	250	2	15	<del>- i</del>		
Grand Percentage/Grade	0.	.00		43	3.00	A+		<u>Attitude</u>
Grand Position		21		ut of	2	2		The student appears well rested and ready for each
Attendance		Out			Out			
Teacher's Signature								PRIZES / AWARDS
		SLIM SCHOO		HISLIM SCHOOL				
	AWAIL & COR	PRINCIPAL Abad, Islameda		PRINCIPAL E			)	
Controller of Exams								Current Result: Pass
	•			•				
								Overall Result: Pass